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Topic:- General Science

1) What happens in a filament lamp? /
TF dg & (Fparie dw) d | gar 82
1. Chemical energy is converted into light and heat energy. /
RIS SHofl, ThTRT 3R ST Seif B uRafdid g 2 |
2. Heat energy is converted into electrical energy. /
S S, fagad Foit # uRafdd gt 31
3. Solar energy is converted into light energy. /
R S, TR St A uRafdd gid g

4. Electrical energy is converted into light and heat energy. /

fagaa SoTl, Ut 3R ST Soif H uRkafdd gidt 71

Correct Answer :-

« Electrical energy is converted into light and heat energy. /

fagad Fuif, yerer 3R o1 Sl # uRafdd gt 21

2) What colour change is expected when a piece of red litmus paper is dropped into a solution of common salt? /

g ATd forew TR & U gobs & AT dqvT & faaa ® R faar wirar 8, &Y forwy 31 o uftad=r 1 srdem & st
2

1. Blue / il

2. No change at all / %@'ﬂ&ﬁéuﬁaﬁqqﬁ
3. Red / dIeT

4. Pink / T[QTSl!

Correct Answer :-

» No change at all /ﬁmﬁéwﬁaﬂ?q‘eﬁ

3) Which one of the following objects is NOT a self-luminous object? /
frafifad 4 @ 919 @ te avg, Wa-dw ag e 22

1. Moon / I&HT

2. Electric bulb / ferTell &1 eal

3. Sun/ﬂ:ﬁ

4, Star / dRT



Correct Answer :-

« Moon / TEHT

4) Which of the following will give blue black colour with iodine solution?
(i) Boiled rice

(ii) Sun flower oil

(iiii) Sugar solution

(iv) Egg white

/ FrafafEa & @ o smardi= fyaa= & ary =fier srar T 3m?
(i) ST g3 AT

(ii) RGBT o

(iii) TP faea=

(iv) 313 Pt TH

1. (i) and (ii) / (i) 3R (ii)

2. (i) only / Had (i)

3. (iii) only / 4 (iii)

4. (iii) and (iv) / (iii) 3R (iv)

Correct Answer :-

« (i) only / Had (i)

5) Which of the following feature is INCORRECT for polar bear? /
fFrafafaa & @ 19 91 5y, o TR & IR A Tad 82

1. Slippery body / R IR

2. Sharp curved claws /W YHIdGRY L]

3. White fur / ¢ R

4. Layer of fat under the skin / «d<[ & I a9 B IRd

Correct Answer :-

« Slippery body / {1 IRR

6) Which of the following soil has the highest water holding capacity? /

fFrafafaa 7 2 fFa U & ga oiftre e uRor &rar gt 82
1. Roadside soil / 8% o fb=TIR 1 g

2. Open field / &l AGH

3. Desert / AR

4. Forest soil / a1 fig!

Correct Answer :-

 Forest soil / d- ﬁl@



7) Which of the following mirror can be used to form images of objects spread over a large area? /

Frafafea & & i afor &1 Iuahn, 98 & ¥ teft axgsit & ufafdal ot a9 & forg fear o wwar @2
1. Biconvex mirror / SHTTEd GUUT

2. Convex mirror / TS GUUT

3. Plane mirror / GHAd UUT

4. Concave mirror / 3/ddd GUul

Correct Answer :-
« Convex mirror / 3T YU

8) Which of the following fibers is used for making terry cot? /
Frafafea Y & 9 feae war Hfiele TR & g fear smar g2
1. Polythene, wool and cotton / qﬁ%’ﬁﬁq, 3 Td U

2. Teflon and cotton / mﬁ@ IR

3. Nylon, Terylene and cotton / adi, = Td U™

4. Terylene and cotton / el= Td HUN

Correct Answer :-
e Terylene and cotton / é’\*'(‘i < Td HU™

9) Animals which lay shelled eggs excrete their wastes as: /
WIAGR 33 37 a1 U, 39 FU | U UfRree HT Tl H3d &
1. Nitrogen / TﬂEEj\_rFT

2. Uric acid / W S|

3. Ammonia / 3T

4. Urea / g

Correct Answer :-

 Uric acid/QﬁT‘b‘ STHT

10) The state which is NOT vulnerable to cyclone is: /
98 WIS, Y Ishard | U T8l &8

1. West Bengal IEEEUIS

2. Andhra Pradesh / {18/ U&=

3. Rajasthan / X[SIRYTT

4. Odisha / 3TIEM

Correct Answer :-

» Rajasthan / TSI

11) The settled solid that are removed in waste water treatment with a scraper is called o f



TS B F A1Y UMY Favar J gen T fRR s 3t FEI A
1. sewage/aﬂ%ﬁt’a
2. waste soil / BN'QTQ&@Q[

3. sludge / 3TUH
4. humus / g9HY

Correct Answer :-

o sludge / 3TU®H

12) The incomplete development in tadpoles is due to the insufficient production of ./
Teuta # R fAsRy BT HROT 1 YT ITe 7

1. Insulin / s'ﬁl%‘l:[

2. Thyroxin / YTRITRT

3. Calcitonin / PEIEI=

4. Growth hormone / MY ETq’ﬁ

Correct Answer :-

e Thyroxin/ YTRITRTA

13) The part of the cell that controls the movement of materials into and out of the cell is: /

HIRMPT BT T8 T, St BIRABTSH F 3iaR SR A6 F Uardf o1 Aferfierar i Frafia szare, = 8:
1. Centrosome / TRP DB

2. Lysosome / Fﬂg’@ﬁ@'ﬂ[

3. Nucleus / H&d

4. Cell membrane / mﬁ%('_vﬁ

Correct Answer :-

¢ Cell membrane /ﬁﬁm%k_vﬁ

14) The nitrogen fixing bacteria present in the root nodules of leguminous plants is /
FelleR el Bt ga 3o # SufRud Argeie diffdteursian, g gl

1. Nitrosomonas / m@@m

2. Rhizobium / JZSIaTH

3. Rhodospirillum / S RUTEReTH

4, Azotobacter / Qﬁhaaw

Correct Answer :-

« Rhizobium / JZoNSTH

15) The handle of an electric kettle is made of: /

U fagad dad &1 g = 3 Fffa gar :



1. A semiconductor / Tdh MREIRE
2. A conductor / T Hdlgh

3. A carbon rod / wmﬁqﬁw
4. An insulator / Uch ﬁgqa YD

Correct Answer :-

¢ An insulator / Uch ﬁ’g{q\_‘f AP

16) The unit of temperature is: /

1. Degree Celsius / T&3h Sfc
2. Ampere / Qﬁh’q?

3. Second / H S

4. Metre / e

Correct Answer :-

« Degree Celsius / STt Ao

17) The slow process of conversion of dead vegetation into coal is known as: /

Hd g & Bad A FuiRu A St ufpmsl | @wgd gl
1. Fossilization / STTATRHIBRUT

2. Carbonization / FTE-IHROT

3. Preservation / GRRESTT

4. Decomposition / 3{Yc

Correct Answer :-

o Carbonization / ?Flﬁf:ﬂm

18) An endemic animal of Pachmarhi Biosphere Reserve is: /
TEE! SRS RR rord &1 U@ e Uy 8:
1. Tiger / T

2. Bison / dIgd
3. Parrot / QldT

4. Lion tailed macaque / TR o Ug arel APIH

Correct Answer :-

¢ Bison / dlgdd

19) An electroscope is used to find out if an object is J

figudesil AT IPIY) ST ST T T1d $3 & e fpar oman 8, i avg 2l
1. organic/m



2. electrostatic / FRIR 3gad

3. magnetic /W
4. charged / KIGIRGE

Correct Answer :-

e charged/ 3Mafda

20) ‘Evening star’ is the name given to /

‘FATRER I S femmar gl
1. Pole star / §d dRT

2. Sirius / FIRTH

3. Planet Mars / HTdI U8

4. Planet Venus / [h U

Correct Answer :-
 Planet Venus / [ U8

21) An object is vibrating at 25 hertz. What is its time period? /
TS 9% 25 B ol TR HUH $L E1 8 | 3TDT GHY @i a1 82
1. 0.04

2.04

3.10:2

4.0.02

Correct Answer :-
« 0.04

22) Bells are made of metals because theyare ______in nature/
gl yg St TN s P aupfad A

1. soft /- IRH

2. malleable / 3TeTAAL-I

3. sonorous / &TA®H

4, ductile / I

Correct Answer :-

« sonorous / @I+

23) A truck travels 48 km in 80 minutes. The speed of the truck is: /
TS ¢ 80 e H 48 frfl Stamn sra1 81 cr P T @

1. 10 m/s

2. 8m/s



3.6m/s

4. 4m/s

Correct Answer :-
e 10m/s

24) Choose the CORRECT sequence in which wool is obtained from the fleece of a sheep. /
I e 3 gerH T, R ter Y 3t Wiy ¥ &4 e frar s 21
1. Sorting, scouring, picking out of burrs, dyeing, shearing /
Bers, v, SR &1 78, T8, A Had
2. Picking out of burrs, dyeing, shearing, scouring, sorting /
R BT, TME, A Feid, Feffor, Serd
3. Shearing, scouring, sorting, picking out of burrs, dyeing /
S i, FEur, Bers, R &1 9, TR
4. Scouring, sorting, picking out of burrs, dyeing, shearing /
fEfor, Bers, R &1 T, TR, A Haid
Correct Answer :-

» Shearing, scouring, sorting, picking out of burrs, dyeing /

F Fa, e, Sers, ) &1 5, TS

25) Anaerobic respiration in our muscle cells leads to the production of: /
AR AUl FIfRreTe A Sarudiy 49 SHST SdTGH Al 8:

1. Lactic acid and carbon dioxide / Qifded 3 3R HIa SERIESIES]

2. Lactic acid and oxygen / Afdees 3t 3R SifiiorH

3. Lactic acid only /Wém 3T

4. Lactic acid and alcohol | Afded 3 @?W\I’ﬁ

Correct Answer :-

 Lactic acid only /W%m ST

Topic:- General Hindi

1) ‘Ferfipa &1 9E AR g e A s arg:?
1. gl RISl

2. Jad Rpd

3. g &1 Hd

4. qa B oa

Correct Answer :-

. TR gRIPA



2) e P A FH 9 wE Ay e 82
1. €
2. 985S
3. R
4.7

Correct Answer :-

3) Frder o1 e A A B T wE e = &2
1. 3ot

2. 3T

3. 3Yqy

4. 3y

Correct Answer :-

4) f ITe & 9 g A A A P AT B2
1. 3MaTd]

2. ST

3. smfty

4. Mg

Correct Answer :-
. Sifig
5) I U A T Vg FE A A P ATR?
1. IHY
2. W
3.3¢
4. 3R

Correct Answer :-

6) ‘WgIea’ | Tgt Al s Fa A A s w e
1. g g S aa

2. HgT3d

3. HETed fyid Rra

4. HAETE SIS



Correct Answer :-

. T g

7) fRd¥® @1 fAw A A o9 919 e =g 22
1. g

2. QP

3. HiYyh
4, 31

Correct Answer :-

. WS

8) ‘STHSI HT Y AR fas Fa A A d AT e
1. ST H TS

2. 3TH IS

3. 1% & ferg et

4, 81 HI ST

Correct Answer :-

. P & fAu St

10) ‘wgie ¥ forg wet Afy fa=de =t g1
1. Hg+3d

2. Ael+39d

3. Hgl+3Had

4. Ag+3d

Correct Answer :-

« Hel+3dHd

11) ‘gaR & forg wet |fY fasde a1 g1
1. 9g+3R



2. qg+3TR
3. Tg+3R

4. dY+HtR

Correct Answer :-

12) Fo¥’ & e u yatgarh ard 2rea) @Y i &t g
1. R, A, T

2. R HIA, IR

3. R HIaT, A%

4. TR HI, A

Correct Answer :-

13) ‘W IUWT A g I A A A B ATR?

1. U

2. YRR

3. It

4. UdR

Correct Answer :-

14) FIN@T FTYS EUFFAA A BT 2
1. g1
2. gRY®T
3. gIR®
4. GgR®T

Correct Answer :-

15) <dig & frg wdl Wi fa=dg &1 g1
1. Afq+d=
2.3A+3=
3. 3=
4. 7dHS=

Correct Answer :-



16) Tt & g O vafuard ard wrea) Ft ufda & g
1. SRR IR, [
2. IR IR, fa
3. SFRYR Rl feaT
4. SRR IR, fed

Correct Answer :-

17) ‘& SIS FUAHAA P E?
1. bl
2. %%
3. P
4. BT

Correct Answer :-

18) Wl S ASUA N & & R twp Ig P A A da W 82
1. 389

2. 3farS

3. 3fqreTl

4. 3{TQIST

Correct Answer :-

19) T BT Wi Geray o1 34 g e A A B AT e
1. G193 JTefl G

2. Y1k & 9T SR

3. ST & aTell R

4. 3K § Uer aran Irg

Correct Answer :-

« 1@ ¢ gl ard

20) g gafa fFewfa &g, Yo waw afik sl

) areT Sl oer, Rg ser @ AR APw A s aTE e
1. YIS 39

2. fed T

3. HIUIY



4. PR

Correct Answer :-

21) IR & 91¢ BT IHT & o v W P A A p AT ?
1. TR

2. RTE

3. 3B

4. qaigA

Correct Answer :-

22) <3TAM AR W IoMT Yerak &1 3 P e d A s a2
1. SR Y AT

2. SR @A

3. IR Qg

4, 9gd IR H=AT

Correct Answer :-
.« Sgd IR EAT
23) ‘FUR-SR P gipT Yera¥ &1 3 Py Reci A A B A2
1. 394 Sen
2. I81 981 ! Ug! §1d HXAT
3. el a1 HRAT
4. SR giepT

Correct Answer :-

« S

24) '3 Wi IR S A 19 A7 A6PR 82
1. JUAT
2. AN

3. YHP
4. UM

Correct Answer :-

25) g8 HE A HYR AP § DI AT PR 82



1. Y
2. I

3. JH®
4. U™

Correct Answer :-

Topic:- General English

1) Select the suitable conjunction to complete the sentence:
I shall be happy ______my brother goes with me.

1. since

2. when

3. after

4. before

Correct Answer :-
« when

2) Choose the most suitable determiner for the given sentence.
Have you seen Raphael’s paintings? I haven't seen ___.

1. much

2. any

3. him

4, few

Correct Answer :-

3) Choose the appropriate modal to complete the sentence.
I promise, I ____ try to do better next time.

1. could

2. will

3. may

4, can

Correct Answer :-

o will

4) Choose the appropriate articles to complete the given sentences.

Look at ____ shop around the corner. Thatis ____ one I was referring to. We will take ____ look in the shop.



1. a, the, a
2. the, a, the
3. the, the, a

4. a, a, the

Correct Answer :-
o the, the, a

5) Choose the appropriate articles to complete the given sentence.
Set back ___ clock. Itis ____ hour too fast.

1. the, a

2. the, an

3.a,a

4, a, an

Correct Answer :-

6) Choose the appropriate articles to complete the given sentence.

The equator divides ____ Pacific ocean into ____ North and South Pacific ocean.
1. a, the

2. the, the

3. the, a

4. a,a

Correct Answer :-

o the, the

7) Choose the appropriate prepositional phrase for the given sentence:
We were able to complete the task the locals.

1. in the help of

2. by the help of

3. under the help of

4. with the help of

Correct Answer :-

« with the help of

8) Choose the appropriate preposition for the given sentence:

The terrorists were killed the commandos in a fierce gun battle.
1. by

2. from



3. at

4. on

Correct Answer :-

9) Choose the appropriate noun form to complete the sentence.

The stereo cost me seven rupees.

1. thousands of
2. thousands
3. thousand

4. thousand of

Correct Answer :-

« thousand

10) Choose the appropriate form of the tense for the given sentence.
They ___ for Delhi yesterday.

1. left

2. have left

3. had left

4, leave

Correct Answer :-

o left

11) Choose the appropriate form of the adjective to complete the given sentence.
The metrois ______ to my house.

1. nearer than

2. nearing

3. next

4. closer than

Correct Answer :-

e next

12) Choose the option that best transforms the given sentence using a question tag:
The boy didn’t know the visitor’s name,

1. isn’tit?

2. wasn't it?

3. did he?

4. didn’t he?



Correct Answer :-

o did he?

13) Choose the option with the appropriate punctuation inserted in the given sentence.
Milton one of the greatest English poets was blind

1. Milton, one of the greatest English poets, was blind.

2. Milton, one of the greatest English poets was blind

3. Milton one of the greatest English poets, was blind.

4. Milton one of the greatest English poets was blind.

Correct Answer :-
» Milton, one of the greatest English poets, was blind.

14) Choose the option with the appropriate punctuation inserted in the given sentence.
Did you understand why I was upset

1. Did you understand why I was upset.

2. Did you understand why I was upset?

3. Did you understand? why I was upset?

4. Did you understand? Why I was upset?

Correct Answer :-
» Did you understand why I was upset?

15) Choose the correct form of verbs for the given sentence:
I__ backand_____ agoat chasing me.

1. looks, see

2. look, seen

3. looked, saw

4. looking, seeing

Correct Answer :-
o looked, saw

16) Choose the correct form of verb that is in agreement with the subject:
There _____ a lot of activities happening around us.

1. are

2.1s

3. has been

4. was

Correct Answer :-

e are



17) Choose the correct form of tense from the given options:
Look at those clouds! It to rain.

1. is going

2. was going to

3. will be going

4. going to

Correct Answer :-

e isgoing

18) CANCELLED

Choose the appropriate preposition for the given sentence:
Thefan__ my head is making a lot of noise.

1. about

2.0n

3. above

4. over

Correct Answer :-

* above

19) Choose appropriate articles for the given sentence:

We made ___ plan to go to watch ___ film on Saturday.
l.a,a

2.a,an

3. the, the

4. the, an

Correct Answer :-

20) Spot the error in the given sentence:

A crowd of people has gathered to watching the cricket match.
1. people has

2. gathered to watching

3. A crowd of

4. the cricket match

Correct Answer :-



» gathered to watching

21) Which of the following is the prefix for ‘operate’?
1. de

2.un

3. mis

4. co

Correct Answer :-

22) Fill in the blank with the progressive tense (continuous tense) of the verb from the given options:
Real estate prices steadily.

1. rising

2. arerising

3. will be rising

4. is rising

Correct Answer :-

e arerising

23) Fill in the blank with simple present tense of the verb from the given options:

Kiran and Sumera to get a first class in the examination.

1. hope
2. hoping
3. are hoping

4. hopes

Correct Answer :-

24) Fill in the blank with the appropriate prefix from the given options:
I felt __ secure talking to a stranger and so called the police.

1. de-

2. dis-

3. in-

4. un-

Correct Answer :-

25) Fill in the blank with a suitable co//ective noun from the given options:



The _____ aboard the aircraft were very friendly.
1. crew

2. employees

3. staff

4. workers

Correct Answer :-

Topic:- General Mathematics

1) x=42 46 49 51 55 a 56
f=1 4 4 1 4 1 4

If the mode of the above unimodal data is 49, then the value of ‘a” = N
afe s FfAaATse 3eT FT agern (H1S) 49 B, T “a" F A

1. 56
2.51
3.49

4.42

Correct Answer :-

2) The given pie chart represents the expenditure of a familv on different items. By reading the pie chart,
find the expenditure percentage on housing. /

& & o5 =7¢ A, ve IRaR ganT fafdied o W Y v 7 & gArar AT B 59
TS I1C FT FEITA Hh HaT W ol arem =4 gfaRrd ad &4

P 2
Miscellaneous —_ 50
70° 240°

Housing

Food

1. 62.5%
2.51.8%
3. 66.7%

4. 58.4%

Correct Answer :-

e 66.7%



If the simple interest on a certain sum for 3% vears at the rate of 6% per annum is Rs. 5460, then the sum
s o F

ofE 9fd @ 6% 1 & & 3 auf & v vw Mf¥ad IR & FUROT s 5460 TUC B Al
RURl &l

1. Rs. 28400 / 28400 4T
2. Rs. 30000 / 30000 ¥4Y
3. Rs. 26000 / 26000 YU

4. Rs. 31460 / 31460 4T

Correct Answer :-

» Rs. 26000 /26000 UY

4) By what number should ( g)'-‘ be multiplied so that the product may be equal to ( g)'l 2?1/

(3): & BF FE ¥ TN e AT Sy B s (1) % s e g

5) The product of the multiplicative nverse of 1—52 and the additive inverse of —Ts is: /
= & IVTcHS A Ud — & AN b F1 IPTAhe

]

-5
16

wn| o

4.

Correct Answer :-



6) "
If the area of the sector of a circle of radius 10cm is % cm?, then the angle of this sector is: /

afe 10 Wi Bsr arer W& acd & euds &1 aFhe o gdr §, oY 58 Beads & o i

3

1 165
2. 210°
3, 115

4. 1907

Correct Answer :-

Shilpa placed 76 candlesin a row to decorate her garden during a festival. If the distance between two
adjacent candles is % m, then the distance between the first and the last candle is: /

firear = U& OlER & R 39=r @9l &1 T & fov o ufed F 76 Awafcaar Wi ar
mmﬂm%m&rqﬁ%maﬁqﬁuﬁaﬁmmimqﬁ&

3 3
18;111/ 18;34 ol

3. 4
4. 19 m/ 19 Hiex
Correct Answer :-
3 3
18;11’1 / 18;34 L

9) 1f§=(§y+ (%)'n . then the value of(§)~1 is: /

e 2= (50 + () a9 (2)! 1 A B



16
25

25

[ =

o e

4.

Correct Answer :-

10) Express (3m + 14n)2 - (3m - 14n)2 as a monomial. /
THUG U H (3m + 14n)2 - (3m - 14n)2 B IR PY:
1. 9m(14n)

2. 9m?

3. 168mn

4. 64mn

Correct Answer :-

e 168mn

11) Simplify: / TS BX:

215-[144 * (12x12) + (-8) - {2- 12— 73]
1. 205

2.219

3. 199

4. 243

Correct Answer :-
« 219

12) Which of the following is the set of measures of the sides of a triangle? /
Fufafed & & 919 te Bys It yonsi & Al s13e 32

1. 4cm, 6¢cm , llcm/4@Tﬁ, 6@Tﬁ, 113

2. 6cm , 7em , 15em / 69, 78, 159

3. 6cm, 12em, Sem / 69HY, 1284, 59!

4.8cm, Sem , 10cm / 8YHY, ST, 109+

Correct Answer :-

« 8cm, Sem, 10cm / STHT, 5T, 109+



13) If the area of a trapezium is 54cm? and its altitude is 9cm, then the sum of its parallel sidesis____ ./
i T THET BT A6 54 AU TYT SHD! SaTs 9 A 8, O 3P UG Y d1arm__ g1
1. 9cm / 9TH

2. 4cm / 49H

3. 8cm / §THY

4. 12cm / 129

Correct Answer :-

e 12cm/ 129

14) If the point (a, 4) lies on the line represented by 3x —y = 2, then the value ofa=__ ./
g 3x-y=2gRIFRA @ R AG (a, 4 RAR, TGaHTAA=___ |

1.1

2.5

3.3

4.2

Correct Answer :-

15) A box contains 25 balls bearing numbers 1, 2, 3, 4, , 25. If a ball is picked at random from the box, then the
probability that the number on the ball is divisible by 5 or 7 is: /

TH IR T1,2,3,4 , 25 a% e wwmai arelt 25 7S it g5 €1 afe T @ g Fsn) FUd TH iig
A 9E, 99 g Tt g W Sifdrd w5 sryar 7 | faursy 8, suet wilkiear @

[ o]
Ln | 2 L'j | [

=
e

4.0

Correct Answer :-

25

16) The zeros of the quadratic polynomial 3x2 + 12x are: /
U Tgug 3 + I P YA E:

1.3and4/3Td 4

2.1and3/1743

3.1and4/1Td 4



4.0and-4/0Ud -4

Correct Answer :-
e 0Oand-4/0Td -4

17) The angles of a triangle are arranged in ascending order of magnitude. If the difference between each two consecutive
angles is 15°, then the smallest angle is ik

TP AP0 & FIi I IRAT & RIS HH A sAafeud frar Srdr g1 i Ud® &1 AN SN & Hel 3T 15° 7, aF
a4 BT Siu 2l

1. 45°
2. 60°
3. 55°

4. 30°

Correct Answer :-
o 45°

18) The sum of two consecutive numbers is 2179. The larger number is o
3 St TBIail &1 AT 2179 §1 TS H&IT gl

1. 1090

2. 1179

3. 1069

4. 1070

Correct Answer :-

19) The product of two numbers is 15876. If one number is 9 times the other, then the sum of the two numbers is___./
3 TEITS BT UFEH 15876 8 | TS TH WA 3T WA Bt 9 T 8, 99 g1 S ST1avT__ 7|

1. 420

2. 380

3.432

4. 396

Correct Answer :-

* 420

20) The radius of a cone is ‘a’ cm and its height is twice the radius. If the cone is converted into the shape of a cylinder of the
same radius, then the height (in cm) of the cylinder in terms of ‘a’ is: /

T I 31 B <o A1 U sHe S, e &1 gl 71 A <ip @) v s aret v So A wuiafa fear
ST, 99 ‘a’ & U1 A I 91 S8 (A H) &

3a

1. 2



3.3a

4. 2a

Correct Answer :-

21) If principal = Rs. 400, rate = 6% per annum and time = 18 months, then amount=__ ./
Tfe GaAaed = 400 IUTY, T = 6% Ufday Td qUT =18 A, dafRT=_ |

1. Rs. 412/412%4UQ

2. Rs. 420 /420 >UU¢

3. Rs. 462 / 462 34U

4. Rs. 436 /436 34U

Correct Answer :-
e Rs.436/436%UU

22) 900 men can finish a stock of food in 25 days. How many more men should join them so that the same stock may last for
20 days? /

900 J¥, 25 fa & 1o BT TP WP TUTW H 9Hd ¢ | 378 [ha- 3R 3w aftfera g1 afee @ifes a8 i 20
f=t o € wwTw g .ee

1. 650

2. 225

3. 180

4. 720

Correct Answer :-
e 225

23) I bought a dress for Rs. 555 which was on sale at 25% discount. What was the marked price? /
A9 TP 9% 555 FUY A witer foraet faswt iR 259 &Y ge A sifera gea war ur

1. Rs. 800 / 800 ¥4U

2. Rs. 740 / 740 ®4U

3. Rs. 680/ 680 ¥UU

4. Rs. 650/ 650 %490

Correct Answer :-

» Rs. 740/ 740 34T

24) One of the factors of the quadratic expression 42x2 - 55x + T is: /



T @ 4252 - 55x + 7 F UGS A A TH §:
1. (5x - 2)
2. (4x +3)
3. (7x+ 1)

4, (6x-7)

Correct Answer :-

25) AB||CD and EF is a transversal intersecting AB and CD at P and Q respectively. If ZAPE = 7x - 10, ZCQP = 4x + 11 and
2DQF =3y, thenx +y= ./

ABJ|CD U4 EF TS oo 31 & il AB T4 CD H1 HHTT: P T4 Q TR Ufasdfed ®eal 81 ¢ LAPE = 7x - 10, 2CQP = 4x +
11Td 2DQF =3y, A x +y = I

1. 20°
2.18°
3.26°

4. 39°

Correct Answer :-
o 20°

Topic:- General Knowledge

1) Bhopal Gas Tragedy occurred in which of the following year? /
e o @ e ara # Wora i aadl g8 &

1. 1980

2. 1984

3. 1982

4. 1987

Correct Answer :-
e 1984

2) Which of the following is NOT written by Munshi Premchand? /
Frafafed & & #19-8 T 4=it dade g fafea a8 e

1. Sevasadan / HaTIGA

2. Nirmala / f#ar

3. Usne Kaha Thaa / 39 &gl 4T

4. Godan / TG

Correct Answer :-

« Usne Kaha Thaa / 399 Dl Ul



3) Which of the following state produces maximum soybean in India? /

FrafafET & @ o149 w1 79 4R § sileaw SR der sa 872
1. Chhattisgarh / TG

2. Jharkhand / IRES

3. Madhya Pradesh / H&H P

4, Bihar / f98R

Correct Answer :-
» Madhya Pradesh / H&J L

4) Who is the present Lokayukta of Madhya Pradesh? /
ALY &b TAHTH APIYTd B 82

1. Justice Arun Kumar Mishra /?maﬁf WW&[W
2. Justice Naresh Kumar Gupta / WW PHR T
3. Justice PP Naolekar / ?Trqtgﬁfd’rﬁ BICRER

4. Justice Hemant Gupta / Wm’{ﬁ%ﬂﬂ I

Correct Answer :-

o Justice Naresh Kumar Gupta / mqﬁm PHR T

5) 23" March is the Martyr Day of which of the following freedom fighter? /
23 94 &Y frrafafea & @ e wadsar 89 &1 38ie fjau &2

1. Lala Lajpatrai / CITCIT CITSTYAIRTI

2. Chandrasekhar Azad / GSRIGR TG

3. Ramprasad Bismil / IravTe fafere

4. Bhagat Singh / WTd R

Correct Answer :-

« Bhagat Singh / HITd R

6) Amjad Ali Khan, a famous artist from Madhya Pradesh, is associated with which of the following instrument? /

AV & TP WIS FATHR 3wg 3reht W, Fafrf@a A A fraamaad a8 gu
1. Sitar / RIAR

2. Tabla / d&Icl

3. Flute / SIGR
4. Sarod / W [

Correct Answer :-

e Sarod/ ?R“l'q'

7) Which one of the following cities is known as the ‘Silicon City’ of India? /



fFrrafafaa e d A #1991 78R URd 31 Rifere= Rl & 0 § Sr=r wrar 82
1. Pune/glﬁ
2. Delhi / fa et

3. Bangalore / a"'l?]?
4. Hyderabad / %HTWIE

Correct Answer :-

» Bangalore / a"TFR

8) Which of the following is the state tree of Madhya Pradesh? /
fFrfefaa & @ aer wd=r &1 ISHT g8 ST 82

1. Banyan / SR1q

2. Babul / dqd1

3. Neem / =19

4. Mango / 3TH

Correct Answer :-
« Banyan/ SR71q

9) Which broadcasting company has secured the media rights of the matches to be played by Indian cricket team for the
next S years? /

g TR YT A 30T 5 U 9P HRAIT fphe 1 gRT @A 9F arel 7<) & Hifear sifter ura fee &2
1. Jio / fSrat
2. Zee/f’ﬁ

3. Star / &R
4. Sony / It

Correct Answer :-
e Star/ ¥R

10) Which among the following railway station building is declared as a UNESCO Heritage site? /

fFrafafea ¥ 3 fFa Yad ReA Haq & Awe! favad wa & v o ot fear mar g2
1. Chhatrapati Shivaji Terminus / FAUf Rrareft efifra

2. Howrah Junction / BTdS] Sa=H

3. Hazrat Nizamuddin / 9Rd g

4, Chennai Central / aﬂé @E}T

Correct Answer :-

« Chhatrapati Shivaji Terminus / 0fd fRrarsht efHf=g

11) Where is the principal seat of the High Court of Madhya Pradesh located at? /
Y USRI & S ATy B 42T Hie el fRa 22



1. Indore / 33“
2. Gwalior / TR

3. Jabalpur / ST&¢YR
4. Bhopal / e

Correct Answer :-

« Jabalpur / SIS[¢TYX

12) The birth place of noted playback singer Kishore Kumar in Madhya Pradeshis____ ./
AT #, UG Wae T IR AR SIS RE I

1. Ratlam / XdclH

2. Guna /T[T

3. Khandwa / @gdl

4, Satna / Fd-Tl

Correct Answer :-

« Khandwa / Ggdl

13) The Sanchi Stupa was built by which of the following emperor? /
fFafafea & 9 fF wure grT 9 WU a9aman @ e

1. Ashoka / 3(<NEH

2. Bibisara / fafleR

3. Samudragupta / FHKI&
4. Chandragupt Maurya / Wrﬁ'{f

Correct Answer :-

« Ashoka / 32N

14) The currency printing press is located in which one of the following cities of Madhya Pradesh? /
e fife 0, wer wewr & FRuferae el & @ frad fRa @2

1. Dewas / GaT

2. Indore / 3@?

3. Gwalior / TR

4. Bhopal / T

Correct Answer :-

e Dewas/ m

15) The rate at which Reserve Bank of India lends money to commercial banks is known as: /

R R R U Rord 3@, aiitifue o) ) 4 SUR A R, S/ 9 19 o111 ST @:
1. Prime lending rate /Wﬁ%’rﬁf



2. Advance rate / 3 G
3. Reverse repo rate / fRadyaye
4. Repo rate / qIe

Correct Answer :-

* Repo rate/ TIe

16) Name the Indian woman cricketer who has become the most capped player in the world in women's ODI cricket? /
I YR ufgar frdrex &1 =m0 T @ ot afgar sidtens frde ¥ gfar 3t aax wurer ds faardt s+

1. Mithali Raj / fPaTeit I1e1

2. Jhulan Goswami /Q@qm

3. Anjum Chopra / G{quiﬁﬂtcﬂ

4. Harmanpreet Kaur / T BR

Correct Answer :-

« Mithali Raj / FBrarelt It

17) Name the chicken variety of Madhya Pradesh to which Geographical Indication (GI) Tag was awarded recently. /
neR 3t Piff (Re) & 39 UPR ST Fars¢ ol g1a & 7 Wifere ddd ohens) 31 yeF fFar mn g
1. Kadaknath / hSh-TY

2. Busra / 8T

3. Giriraj / IRRTS

4. Vanraj / d-IRTSI

Correct Answer :-
e Kadaknath / SHTY

18) Who is the present Chief of Indian Navy? /

YR 1 & IFA T0E S 82

1. Admiral Devendra Kumar Joshi /Q'SﬁlTﬁ 33?:: Wﬁh"\’ﬁ
2. Admiral Robin K. Dhowan / TSR Rfa- &. 4a-

3. Admiral Sunil Lanba / TS R WW
4. Admiral Nirmal Kumar Varma / QSI“—R@ ﬁﬂawaﬂf

Correct Answer :-

e Admiral Sunil Lanba / TS R ﬁ:ﬁf’l?ﬂiﬂ

19) Who has been sworn in as the 10th Chief Minister of Tripura following Vidhan Sabha elections in February 2018? /

Beadt 2018 § U TG & g e F 107 g $ wud e my e
1. Dashrath Deb / G¥RY ¢§
2. Nripen Chakraborty / T{a?m?ﬁ



3. Biplab Kumar Deb / fow@a PHR a9

4. Manik Sarkar / ATfOT® TRBR

Correct Answer :-

« Biplab Kumar Deb / foreta PHR <q

20) Who among the following is in charge of the Ministry of Minority Affairs in Union Cabinet? /
HE HEmvSH § sreueEr® B #Aed & U oA FEfafa A d e a2

1. Mukhtar Abbas Naqvi / &R 3{edld bt

2. Alphons Kannanthanam / AP HATYTH

3. MLJ. Akbar / Q. S, 3fheR

4. Jual Oram / JUcT 3{Riq

Correct Answer :-

« Mukhtar Abbas Naqvi / GE&R 3768 Tl

21) Who among the following Padmashri Award winners of 2018 is NOT from Madhya Pradesh? /
2018 F FrufifEd wrsht werr Reaei A A P ra weu A=l 82

1. Shamshad Begum / IS H

2. Bhajju Shyam / H] RITH

3. Malti Joshi / HTefcil STt

4. Baba Yogendra / dTdl g

Correct Answer :-
e Shamshad Begum / TG §TH

22) ‘Bagh Print’ in Madhya Pradesh is related to: /
Ay # 9 fife fe & weftra

1. Computer printing / W HaUl

2. Printing jewellery designs / \3‘|T7{§|'Uﬁ CAASSIERIED] HaUl
3. Offset printing /3THYC TEUT

4. Textile printing / PUST HKUT

Correct Answer :-

o Textile printing / PIST H&UI

23) ‘Push Ki Abhilasha’ is the work of which famous poet of Madhya Pradesh? /
quy B SFUATIT ATHS TTT, WA F (5 uRis ofa 1 32

1. Harishankar Parsai / BRRI®HR UWT&F

2. Makhanlal Chaturvedi / ARG agdal

3. Nathuraam Premi / TTYTH ot



4. Gajanan Madhav Muktibodh / TSI HIYG m‘a

Correct Answer :-

» Makhanlal Chaturvedi / TG a@ﬁ?ﬂ

24) Jamini Roy was a famous ./

Sifee I e uirs |
1. politician / ST
2. dancer / Td®

3. scientist /w
4. painter / fEeR

Correct Answer :-

* painter/ ICEGQR

25) Vikram Sarabhai Space Centre is located at ol
faspw aRTUTS Siafver vx @
1. Sriharikotta / HigReICT

2. Thiruvananthapuram / Wﬂ"}ﬁ’q
3. Hassan / 811

4. Chandipur / ITGIqR
Correct Answer :-

« Thiruvananthapuram / fdea=dgzd

Topic:- General Computer

1) Thebelowiconisusedto in MS-Excel. /

AT fear T HsEea, AT vadd # & ToIT seATe & Srar B

il

1. Sort Text in Ascending Order / 3RIg! HH H HHIG RS

2. Sort Text in Descending Order / aaﬂé‘ramﬁma%w
3. Convert text case from Upper to Lower / AR Y AR H TR Y &l H=dc HIA
4. Convert text case from Lower to Upper / AR T R H TRE HY B hac B

Correct Answer :-

» Sort Text in Descending Order / &mﬂ%ﬁmﬁm@m



A formula like “=SUM(A5:C5:D5:E5)” to the below MS-Excel sheet would give the following result /
A &1 a5 vATE-Uae ofie #, U A "= SUM (A5:C5:D5:E5)" foleet aRomma &am:
A | B | ¢ | b | E

25 25 25 25 240 1

1. 50
2. 100
3. 125

4. 25

Correct Answer :-

« 100
3) When we delete any file using delete key only, the file goes to the ./
W9 g9 bad felte $t &1 sxauma 3 g¢ fHdt Biga &t fEcdhic w3 €, @ wiga o Tl STt 21

1. Downloads / S3AGH

2. Recycle bin / Rarged faq

3. Network Neighborhood / Jead eﬁ?@@
4. My Computer / HIY HHYcX

Correct Answer :-

» Recycle bin / Rarged faq

4) The following font style has been applied to this text — “"Raghu is my best friend > /
fFrafafad dfd & @ #19 d wie Acht &1 53q91a f5ar 741 8 “Raghu is my best friend

1. Underline / 3iSdre+

2. Bold / e

3. Italic and Bold /s%f?ﬁqgaﬁ@

4, Italic /%

Correct Answer :-

« Underline / 3{Sdzd

5) Which of the following is a correct format of Email address? /
frafafed & @ o149 91 §-59 g9 31 98 wide 32

1. rajesh@pmp.com

2. rajesh@pmp@info

3. rajesh.pmp.com

4. www.rajeshofpmp.com

Correct Answer :-



» rajesh@pmp.com

6) How do you select a single word by clicking it in MS-Word? /

THTH-a8 A 317 T RiTTa g &1 fra-il IR @ gR1 Adae &2 9od 82
1. Three times / AH dR

2. Once / Uh dR

3. Twice / &l §R

4. Four times / R dR

Correct Answer :-
e Twice/ a‘law

7) Speaker is device. /

e fEamagl

1. an output / Uh 3HT3CYC
2. a memory /wﬁﬁlﬁ

3. an input / Th §1YC
4. a control / Th @a

Correct Answer :-

« an output / Udh 3HI3CYc

8) What is the extension of MS PowerPoint (ver. 2010) files? /
THUY UTaR WIS (@9 2010) PTEed $T TGIC I 1 82
1. .pptt

2. .pptx

3. .pott

4. .potx

Correct Answer :-

9) What is to be used to add text in a MS PowerPoint slide? /

U% THUH UTaR WIET 1SS H, TR US HY4 & e 594 & e yahr far smar 22
1. Note box / FIC ST

2. Comment box / HHE S

3. Text box / CRE SIGd

4. Text layer / THRE AR

Correct Answer :-

« Text box / TR ST



10) Which of the following will NOT cut information? /

Frafafed & @ fead @ se 781 ari?

1. Selecting text >Right click and Cut / THRC Yalae H> W3C [aad IR B P
2. Pressing Ctrl+X / Ctrl+X CUIEES

3. Pressing Ctrl + C / Ctrl + C eIk

4. Clicking on Cut button / ®¢ §¢- IR fda® &3+ 9

Correct Answer :-
e Pressing Ctrl + C/ Ctrl + C TEEY

11) Which of the following is a temporary storage media? /
Frafafea & @ o9 a1 ve ) ke Hifsar 32

1. RAM /X"

2. ROM /¥

3. Hard Disk / §TS fo%®

4. Pen drives /ﬂ?:ﬂsa

Correct Answer :-

« RAM /™

12) Which of the following is NOT a type of page size in MS Word? /
Frafafaa & & 19 91 TiTy 9 # I 9159 31 U@ USR 761 82
1. A4
2. A2
3. A3

4. AS

Correct Answer :-

13) Which of the following is NOT hardware? /
frafafea & @ o9 arssam T8 82

1. Mouse / HI3H

2. Printer / flie}

3. Interpreter/gaﬂj X
4. Scanner / ¥R

Correct Answer :-

. Interpreter/gaﬁj X

14) Which of the following is also known as brain of the computer? /



Frafafea 4 3 59 v & aiiass & wu d o s g2
1. Control Unit /W{ﬁ?

2. Central Processing Unit /W rRaRiT ?Iﬁ'c’

3. Memory unit / AR Zﬂ?ﬁ'

4. Scanner / TR

Correct Answer :-

« Central Processing Unit /ngﬁ?

15) The full form of KB is ./
Ft &1 ol =g gl

1. Kilo Byte /fparaEe

2. Kilo Bit/ fobelt fae

3. Key Block | Bl AlH

4. Kernal Boot/a)_"faq\?f

Correct Answer :-

« Kilo Byte / fal a1ge

16) _  keystroke is used to go to the top of the document. /
IS o1y Siagie & Y oA & fore far smar g1
1. Ctrl + End

2. Ctrl + Home

3. Top

4. Escape

Correct Answer :-
e Ctrl + Home

17) is NOT an e-payment method. /
TP §-ya R TE 81

1. e-Cheque / é-%

2. Credit card / HfSC HIS

3. Cash on delivery / 1 317 feferadt

4. Debit card / STIE BTS

Correct Answer :-

« Cash on delivery / 1 39 f$feradt

18) is NOT an antivirus software. /

TS TRy qieeadR Tl 21



1. McAfee / b

2. Avira / 3{dRT

3. DBMS / SIdITaATH
4. Avast / TdIRC

Correct Answer :-

« DBMS / SiSTaTy

19) How can you select the entire document in one go in MS-Word? /
THTH 93 # TP IR # 3110 T STHgHE HA Jdae B 9ad 82
1. Shift + A

2. Ctrl + Alt + Del

3.Ctrl +A

4, Ctrl + Alt + A

Correct Answer :-
o Ctrl+A

20) In excel, which button do you click to add up a series of numbers?/

THT §, P T g 39 TBATH & TP HH P! wilgq & o fFae $d 82
1. The auto sum button / 3{Tc] TH g

2. The quick total button | fée eled g7

3. The Formula button /tﬁ\ﬁiaTW

4. The total button / EIed S+

Correct Answer :-
« The auto sum button / 3Tl IH g

21) When sending an e-mail, the line describes the contents of the message./

VTS SHANSTSET], @ @15, A0S & Pi<c B TS Hl g
1. Subject / Heolde

2.0/

3. cc/ 9t

4. Content / Hi<c

Correct Answer :-

e Subject /W

22) We can bring up the “Find and Replace” Dialog box by pressing which of the following function Key in MS-Word?/
W THTY 9% ¥ fAufaf@d # 3 f5 o 31 &1 qare? "Brss s R S/aai aieq &) df 96d 82

1. F4



2. CTRL+F5
3. CTRL+F4

4. F5

Correct Answer :-

23) Which of the following icons stands for Skype? /

frrafafaa & @ @19 91 s, Wh1su &f fAefud seare?

.©
@

e

Correct Answer :-

4.

24) Which of the following is a correct URL? /
frafafea & & o9 1 & w8l gamea 82
1. search@internet.in

2. www.yahoo.com

3. Internet Explorer

4. Google

Correct Answer :-
* www.yahoo.com

25) The maximum Zoom percentage in Microsoft PowerPoint 2017 is __./
HISH GG UTaR @rse 2017 § Sif¥reaw 9w ufawra :

1. 200%

2. 100%

3. 500%

4. 400%

Correct Answer :-



Topic:- Logical Reasoning

1)
If 30% of X=025 of Y= % of Z. then find X:Y-Z. /

IfE X T 30% , Y& 0258 Sl Z & %% ATX-Y-Z&HI AT HifAT)

1. 10:9:7
2.9:7:5
3.5:7:11

4.10:12:15

Correct Answer :-

e 10:12:15

2) CANCELLED

A shopkeeper purchased 80 kg of potatoes for Rs.8.40 and sold the whole lot at the rate of Rs.12.50 per kg. What will be his
gain percentage? /

TS PSR 80 fHat 3 8.40 TUT & Tdgar & 3R Tft &Y 12.50 ufay et &Y o= | S=rar 81 7T ATy wfowra w®am 82
1. 19.04%
2. 18.40%
3. 19.40%

4. 18.04%

Correct Answer :-
e 19.04%

3) If the cost price is 94% of the selling price, then what is the profit percentage? /
gfe Ha e, faswa gea 371 94% &, @ a1y ufa=rd «ar 82

1. 6.38%

2.6.73%

3.6.37%

4. 6.83%

Correct Answer :-

e 6.38%

4) If the first and the third digits in each number are interchanged, then which number will be the smallest?
347, 418, 635, 824, 259 /

Tfe T® T A Ugd 3R TR 8 &) 3w A aea faar wirar 8, at #i9 i W agaw e

347, 418, 635 ,824, 259



1. 259
2. 418
3. 824

4. 347

Correct Answer :-

o 824

5) If X and Y are two sets such that n(X) =17, n(Y) = 23 and n(XUY) = 38, then find n(XNY). /
gfe X 3R Y 3 Y= 39 UPR & % n(X) = 17, n(Y) = 23 3R n(XUY) = 38, 99 n(XAY) A HL |
1.5

2.4

3.6

4.2

Correct Answer :-

6) If0.25: X :: 5:8, then find X. /
gl 0.25: X :: 5:8, TG X FA B |
1.0.7
2.03
3.04

4.0.8

Correct Answer :-

7) In what ratio must tea at Rs. 61 per kg be mixed with tea at Rs. 71 per kg so that the mixture must be worth Rs. 64.50 per
kg? /

61 3UT ufe et ama & ary 71 $u uf fat ara &t e srqura & fararan s, forT & fsor &1 97 64.50 $UT
wfar et gt sme?

1. 8:13
2.7:13
3.13:7

4.13:8

Correct Answer :-

o 13:7

8) The cost of an eraser is 40 paisa and the cost of a pen is Rs. 4. What is the ratio of their cost in the simplest form? /

TSP TR BT Y 40 U7 3R TP $AH BT Y4 4 FUT 2 | I WA ©U & TP AT BT SJUTd 7 82



1.2:5
2.52
3.5:1

4. 1:10

Correct Answer :-
e« 1:10

9) The monthly income of a person is Rs. 8000. If his income is increased by 20%, then what will be his new monthly
income? /

TS 3MSH! Ft ARSI 8000 FUT g | TS IS MTHGHL 20% TP T¢ WY, 99 ITD! 1S WIRIS T F471 ghft?
1. Rs. 9600 / 9600 ®UU
2. Rs. 9400 / 9400 24U
3. Rs. 9000 / 9000 4T

4. Rs. 9200/ 9200 ¥YU

Correct Answer :-

* Rs. 9600 /9600 UQ

10) The average of 11 results is 35, that of the first five is 35 and that of the last five is 22. Find the value of the 6" number. /

11 TR 7 ofere 35 2, Rrerd wrw uta &1 35 iR Sifm ata @122 21 69 FoR 1A A B
1. 110
2. 95
3. 105

4. 100

Correct Answer :-

« 100

11) The average of the first 7 prime numbers is: /

UYH HId HTST &3] BT 3N9d &

Correct Answer :-



12) Let A have 6 elements and B 12 elements. What can be the minimum number of elements in AUB? /
AT T 5 A & URT 6 T 3R B F URT 12 9 &1 AUB B dcdl &Y AaH ST T §) el 82
1.3

2.9

312

4.6

Correct Answer :-

13) A car takes 25 seconds to travel 375 meters. What is its speed in km/hr? /

TP PR 375 WeX I AET A 25 A6 BT 97 Al § | §HS! a1t fopsil/der § | 32
1. 55 km/hr / 55 fbet/dieT

2. 54 km/hr / 54 fopHi/deT

3. 56 km/hr / 56 fapHi/EeT

4. 53 km/hr / 53 fopH1/Eer

Correct Answer :-
o 54 km/hr / 54 fHi/EeT

14) In a mixture of 85 litres, the ratio of milk and water is 2 : 1, respectively. If the ratio of milk and water is to be 1 : 2, then
the amount of water to be further added is: /

%st-ﬂ'a%?fﬁmﬁ,guaﬁ?m:ﬁmaﬁumm: 2: 18191 g 3R Uit &7 3uTd 1 : 2 B, 99 T T UTH U

1. 87 litre / 87 (_'“EQ
2. 80 litre / 80 TeX
3. 79 litre / 79 5‘"3?

4. 85 litre / 85 X

Correct Answer :-

o 85 litre / 85 @eX

15) In a group of 45 people, 34 persons like apple, 44 persons like guava, and each person likes at least one of the two fruits.
How many like both apple and guava? /

45 T & TR H, 34 TR VT UG PR 3, 44 AR 379G IR TAS AR $) HH I FH g4I Bal § 4 TH Bl THG
21 fra aafa A ok 3mwe g1 THE Fed 82

1.35
2.33
3.28

4. 30

Correct Answer :-



16) A sum of Rs.7.20 is made up of 80 coins which are either 10 paise or 5 paise coins. How many are of 5 paise coins? /
7.20 UL Pt Fa IR & 80 Ry €, Forad F 10 17 715 17 F Ryad &1 3787 5 T & freq Ryadp &2

1. 14

2. 16

3.13

4. 15

Correct Answer :-

17) A cricket team won 15 matches out of the total number of matches they played. If their win percentage was 30%, then
how many matches did they play in all? /

gmﬁ%@ﬁwﬁﬁaﬁﬁmﬁﬁ 15 AT A | 3R IS i BT ufa=rd 30% o1, @ Fa frames fFaa

1. 50
2.70
3. 60

4. 40

Correct Answer :-

. 50

18) Find 10% of 450 km? /
450 f&Hft ®1 10% TG B2
1. 55 km / 55 et

2. 45 km / 45 fopuit

3. 50 km / 50 fopet

4. 40 km / 40 e}

Correct Answer :-

o 45km /45 fpHt

19) If by selling an article for Rs. 490 a shopkeeper gains 10%, then find its cost price. /

i 490 TUT B TP T BI ITB gHER 10% ATY HHTAT 8, 99 BT 569 Jod J1d He |
1. Rs. 444.45 / 444.45 54U

2. Rs. 447.45 / 447.45 34U

3. Rs. 446.45 / 446.45 34U

4. Rs. 445.45 / 445.45 340

Correct Answer :-



» Rs. 44545/ 445.45%U4Q

20) The average weight of 12 persons is increased by 3.5 kg when one of them who weighs 57 kg is replaced by a new man. The
weight of the new man is: /

12 AN T 3N ToI 3.5 fPANUTH 9 9¢ SITd1 @ 59 S9H A 57 [Pl a9 aral T AfaR o1 3= fadd gIRT
ufereuTiia o< faar SiTar 81 ¢ safa 1 ae ©:

1. 98 kg / 98 fpar
2. 96 kg / 96 fal
3. 99 kg / 99 farat
4. 95 kg / 95 fopalr

Correct Answer :-

« 99 kg /99 foral

21) The average age of a man and his son is 22 years. The ratio of their ages is 19:3 respectively. What is the man’s age? /
TS 3ATeHT 3R ITP T B 3T BT 3N 22 TY g | IAD! 3T HT SJUTA HH: 19:3 7| ATGH P AT 7T 32

1. 38 years / 38 ay

2. 40 years / 40 G

3. 35years/ 35 G

4. 44 years / 44 G

Correct Answer :-
e 38vyears/38 L

22) Manijeet is 4 times as old as his son at present. After 7 years, Manjeet will be thrice as old as his son. What are their present
ages? /

Holld 309 T Y addT 31 & 4 AT IST 2 | T T 91, Holld D1 1Y ITP T Bt AT B 3 T 8 9t | 39 31
B IdH T FTR?

1. 42 years, 15 years / 42 a’ﬂf 15 a'ﬁf
2. 30 years, 12 years / 30 a'ﬁf, 12 Tﬂf
3. 35 years, 10 years / 35 3'51(, 10 9%

4. 56 years, 14 years / 56 AU, 14 ¥

Correct Answer :-
o 56 years, 14 years / 56 aﬁf, 14 9%

23) The present ages of Prajapati and Anuj are in the ratio of 5 : 4 respectively. Three years hence, the ratio of their ages will
become 11 : 9 respectively. What is Anuj’s present age in years? /

T 3R ST B T 3T HT 3JUTd HH: 5 : 4 81 3 TY qTG, ITD! Y BT TUTH HH: 11 : 9 T g1 AT
Ul § 3l B aFH g FAT 22

1. 40
2.27

3.30



4. 24

Correct Answer :-
o 24

24) A bus travels in 86.1 km/hr. How many meters will it travel in 20 minutes? /
TSP 9 86.1 fpHY./HeT A a1 el 21 98 20 firmie # fpaa Hiex & amn s &l
1. 27800 m / 27800 HY

2. 28750 m /28750 HI

3. 28600 m / 28600 HI

4. 28700 m / 28700 Ht

Correct Answer :-
« 28700 m /28700 Ht

25) A bus covers a distance of 216 km at the speed of 24 km/hr. In how many hours will the bus cover the same distance? /
T 9 24 frell/er Bt e & 216 5t 31 g au st 81 fpa e & a9 qum g ag st

1. 10 hours / 10 ¥¢

2. 7 hours / 7 &¢

3.9 hours /9 ©¢

4.8 hours/8‘€T%

Correct Answer :-
e 9hours/9 ‘a%

Topic:- General Management

1) A business loan repayable according to a specified schedule is known as: /
e (AT St & SR ufidy U aawra U1 59 U § ST |16 8:
1. Bond / 91

2. Term loan / 3{TAfR ot

3. Stock / I

4. Security / Qﬁ’;[%

Correct Answer :-

e Term loan/mﬁf

2) A written statement of what the worker actually does, how it is done, and the working conditions, is known as: /

TP HHARY T BT BT ¢, T 4 [P SI1d1 & 3R $1d B3 1 uRfRufaa a1 8, F IR & vo foafad faawo =
FY H ST ST 8:

1. Job design /WG@W(GTH SSIER)
2. Job description / T faaRuT (\_SfTa %'@;WW)



3. Job specification / P fafdzE (Gl'\fﬁ' @'Qﬂm
4. Job motivation / BT SHTUIRTT (Sig M)

Correct Answer :-

« Job description / T fqaRom (Siis fefepm)

3) According to which one of the following accounting concepts, it is assumed that an entity will continue to operate for an
indefinitely long period in future? /

Frafafaa % 2 fFa dar srmurRon & AR T A7 91T 8 6 e 318, widwr # srfAifda sra a@ adt srafir &
fore Hareq s o @

1. Economic entity concept / 3t ng S{AYRUM (sﬁﬂ% Qﬁ?ﬁ av‘T‘-@ﬂz')
2. Going-concern concept /W—W S{IYRTT Gﬂsﬂ-aa_-\:f'vr ﬁ?ﬁlz)

3. Cost concept / TRTd SAYRUIT (WVW 37—77@12')

4. Cash concept / b q SAYURUM (aWT?FT:\a"E')

Correct Answer :-

« Going-concern concept / GATH-UfASSTT YR (MET-H=H HINIC)

4) Tangible items that will be consumed in the course of normal operations are termed as: /

I AT & SR SUHIT F S arelt el aegaif (@~>Tad 3mged) $i f ®e1 wiran 8:
1. Supplies / 3T (TTE)

2. Produces / ITG (T1SgH)

3. Work-in-progress / FRAOMH &1 (@h-39-01R)

4. Inventory / TG AT (3Tdch)

Correct Answer :-

» Supplies / Gﬂ'{ﬁ(m

5) The era of Indian economy post-1991, characterized by extending privatization and lessening restrictions on business
operations in the economy is popularly termed as: /

1991 & q1g YR Srferawi1 HT a8 T, Ford srforawyr & samuR el wR ufadel & &0 $+ 3R e &1
R s g1 sl fran man, e wgaman @:

1. Privatization / fFSfiR0r

2. Industrialization / SETHROT
3. Liberalization / 3GRIBRUT

4. Globalization / GHT&=0T

Correct Answer :-

o Liberalization / Gaﬁlm

6) The ability to influence people towards attainment of organizational goal is known as: /

TISATHS G980 B U & fore @ &1 yifad & 3t &rvar = sgand e:
1. Charisma / GfaHT (WT)



2. Motivational capability / TR &l (lﬂﬁﬁw Fufafereh)

3. Directive ability /A& e (SrRfaea wfaferch)
4. Leadership / g (ASXIRMT)

Correct Answer :-

 Leadership / ﬁaa GISHEE))

7) The activities of designing and producing the container for a product is known as: /

TP IATE & g He-R o fEamg i ok Sare 3t nfafafirat <t 531 Am | 5 i 3
1. Merchandising / wy-famg (ﬂ#@sﬁm

2. Presentation / UWUT (ﬁﬁéﬂq)

3. Promotion / WA (mﬂsr—n

4. Packaging / IECSIEES (W'D

Correct Answer :-

« Packaging / fSearadt (ﬁm

8) The set of independent organizations responsible for making the product available for the consumer are known as: /

SUHIFT & T Iuasy IdTE Bt T 3 RRATR a7 W1 & e $i =1 BT 9T 8:
1. Suppliers / Gfdiepdl (TeaTa)

2. Retailers / e faghdr (Rea)

3. Marketing channels / AT (T T e

4. Sales Managers / b1 Ueie/apT (I Tord)

Correct Answer :-

« Marketing channels / T e

9) The combination of two or more companies into one wherein the joining entities lose their identities is known as: /

amgﬁeﬁ%*ﬁﬁﬁﬁ@ﬁﬁﬂhﬂ,ﬁﬁﬁﬂﬁtﬁﬁgﬁﬁﬁﬂﬁ@@ﬁmﬁ@ﬁ%ﬁwmﬁm
EIGLEGH

1. Take over / HTIUR T

2. Acquisition / SHfRTET

3. Merger / faea

4. Joint venture / GG ITH

Correct Answer :-

« Merger / fderg

10) The value of all final goods and services within the country’s geographical territory by all individuals, corporations, and
government is known as: /

Tt s, ARl Ud TR gR1 I & Wi & & fiar it sifew axgaii ua Qarsit & gea &) w1 e 8:
1. Net national income /ﬁﬁﬂﬂ@q S



2. Gross domestic product /W‘tﬂ?ﬁﬁqla
3. Gross national product / b cl ?T@U Al
4. Per capita income / ufd safad sma

Correct Answer :-
« Gross domestic product / bl mm

11) The desire directed to a specific object to satisfy a particular requirement which is backed by the ability to pay for it, is
known as: /

TF faRIY 9w &) Ut H & e ua e axg & fore R Rra g1, <t 59 e yia 3 9t emar 9
T &, fre =g & o1 oiTar @

1. Want / 3Ta=addl (A1)
2. Stated want / RefRd sazgdar (Kes ai<)

3. Demand / AT (%'qi?:')
4. Need / SI&d (1)

Correct Answer :-

« Demand /AT (%mg)

12) The cash, equipment and other such resources that an entity owns and uses for its operation are termed as: /

TH Y, SUDIT 3R 3T TH HHTYH S T SHIS & AP & MR SHP HdTa & oI ITHTA Pd §, A dgad &
1. Accounts / TIR@T (m)

2. Tangibles /]I(_‘f (%ﬁrd?\q)

3. Liabilities / STRaIIE (ATsfeferes)

4. Assets / GREYfRT (@m

Correct Answer :-

« Assets / ORI (@E\H)

13) The product in the portfolio with a high market share and a high market growth rate is known as: /
S TN AR 3R I TR AP &R & |1y GIEwiral & Iarg &1 e &1 | S e 3:

1. Dog/ I

2. Question mark / Y ATH

3. Cash cow / FY B3

4. Star / &R

Correct Answer :-

e Star/ IR

14) The policy of government related to public revenue, expenditure, and debt is known as: /

WP o, T, 3R BT A HalUd TXPR P AIfd B 50 714 T SHT 16T 8:

1. Budgetary reform / §ole1g JUR



2. Union budget | HErT TSI
3. Fiscal budget / JSTH YT Folc
4. Fiscal policy / JISTHTSG ~Hifa

Correct Answer :-

« Fiscal policy / STH IS it

15) The perspective of management that emphasizes on the importance of understanding behaviors, needs, and attitudes of
people in the workplace and social interactions is known as: /

YEYH $T URNET ) SRITIE TS AP S=A-afehar § al & SId8R, Sevd U4 fUgial & 9 & Ugd R Id
%T%,ﬁﬂm%:

1. Bureaucratic perspective / ﬁm@qﬁﬁr&q
2. Humanistic perspective / ATddrdra uRueg
3. Classical perspective / FaTRIt uRued
4. Scientific perspective / éﬁmqﬁa&u

Correct Answer :-

« Humanistic perspective / AHqdaTg! aRkved

16) The economic system followed by socialist countries where equal importance is given to both public and private sectors
is known as: /

THTSETE! =1 & GRT STHA S arelt e gorelt wigt rdwii=e 3R fFoft 1 &= &) gw wew fear s g,
= peandt 8:

1. Market economy / §TSIR Srfeaw
2. Communism / HI¥&Idlq

3. Capitalism / @ﬁ?ﬂ?:
4. Mixed economy / forfSre srfemaw

Correct Answer :-

« Mixed economy / FAf8d SrfegaRT

17) The lateral or diagonal exchange of messages among peers or coworkers that also includes team communication is
known as: /

il a1 wew g & St W= &1 urd a1 Ryl faferrg, e Sa war o i grar 3, =1 sgaman s:
1. Upward communication /G?za‘g&ﬂw (WW@
2. Horizontal communication / AR TaR @mﬁ’amﬁﬂ?m

3. Downward communication / H%h'ﬂ'@ BN (5|\5"|0|6r w“ii'\‘ld%‘ild)

4. Cyclic communication / Teh1d TAR (ATATGA® HRIAHI)

Correct Answer :-

« Horizontal communication / SR YR (GRIGI<d m—‘ﬂ’l}

18) The process of providing the existing or new employees with the skills and knowledge required to perform their jobs is
known as: /



HIS[GT Td g HHATRYT DT U F1pR1 BT UG B & Y ATaRgS B T FH IUAK HRA B Ufeha1 o1 39
AT & ST T 3

1. Employee engagement / FHHAR B (smf’lﬁ Eﬁﬁfeﬁ)

2. Performance appraisal / &= &I P RICE! (RBIHY TIHd)
3. Induction / A= (SSHRM)

4. Training / UTRI&OT (aﬁ"T)

Correct Answer :-

« Training /Q@T&‘M@ﬁ'ﬂ)

19) The process of systematically moving workers from one job to another is known as: /

TH B3 A gOR & afYd & | 96 ¥8 4D! It ufehan 1 30 YR =1 91T 3:
1. Job enlargement / HTAGH (S1d STATSIHC)

2. Job environment / T4 TAfaRU (SITd dIaRA<)

3. Job enrichment / BT YaeH (S1d TIREHE)

4. Job rotation / BTH 3MTac (SiTe JCTM)

Correct Answer :-

« Job rotation / BT 3T (G'TE’? eTM)

20) The management function concerned with monitoring employees’ activities, determining organizational performance
towards its goal, and making corrections as required is called: /

UG HTd & HHATRG) Bt fafafr) ¥ G&6ftd g1 €, 3 @1ey 91 2= # Wrearee ueRi= & Ruffa #a & sk
ATAHAIIR GUR Hd 8, (A= Fgad &

1. Controlling / IGRELI (?b?jﬁf’T)

2. Organizing / 3T (Gﬁm
3. Planning / TS (=)

4. Leading / 3T ((’ﬁ%TD

Correct Answer :-

« Controlling / =0T @m)

21) An enterprise that manages production establishments or delivers services in at least two countries is known as: /
TS AT I ol H & $H &1 3T § TG GRIH] BT Y8 HdT ¢ YT JaT¢ U vl ¢, e sgarar g
1. Multinational corporation / Wﬁ"m

2. International corporation / aﬁrrw@vﬁm

3. Trading and merchandising company / STUR (%;%"T) 3R wy-fawy (ﬂé%'l?gﬁ"'f) U

4. Export house / BRI e

Correct Answer :-

» Multinational corporation / Wﬁ"m



22) An informal communication network within the organization that carries workplace gossip is known as: /
T3 & Siiid T SFIUET® HUR Acad ol SIARIT P TYY HI UgdTd &, =1 peard &:

1. Upward communication /Em AR (m mﬁm

2. Horizontal communication / FHERIG HAR (BRIG<d Eb_ﬂlﬁ%h_iﬂ)

3. Downward communication / S{Yﬁ'ﬂ'@ﬂ IR (mqaé' Tﬂqﬁwm)

4. Grapevine / SI-THdIq (ﬁmﬂs‘ﬂ

Correct Answer :-

 Grapevine / SYdIg (’}QHTE"_‘T)

23) A group of two or more people who interact and coordinate their efforts to accomplish a common goal for which they
are committed together is known as: /

S a1 3l | 31t @ &1 U TYE Y U quTH 8d, Forad 1T 3 ue ury ufaas gU E, B R HA & g erm
AT IR STadid 3R FHay $3d FEad gl

1. Team / 1H
2. Department / faym

3. Function / &1
4, Pack / U

Correct Answer :-

o Team /TH

24) A certificate promising to pay its holder a specified sum of money on the maturity date and an interest until then is
known as: /

TS YHIUTYA S ISP YRS $I uRkusar fafy iR ga faffdte Tf¥r ok a@ 9o = are saret 3ie1 39 &1 999 ¢aT 3,
= wgamar :

1. Goodwill certificate / G YHIUIUH (1[S ad gfe 33353)
2. Bond / ¥ (91-8)
3. Term loan / 3MTAfI® &of (H @)

4, Stock / TTh

Correct Answer :-
« Bond /&Y (d1-9)

25) A type of conflict management in which people engage in mutual benefit discussions and consider various alternatives to
reach a joint decision that is acceptable to both parties is known as: /

TP UHR BT HTY yae o @l treafye ary a=isl # Tav 81d € 3k Ue "ged Al a@ ugem & fore fafi
fameal W faaR #3a & & & ) v &) Terd 8, 39 59 7H A SET | 8:

1. Avoidance / TRER (3{37337\‘?)

2. Accommodation / FHGH (QH’TP:@FZFD
3. Competition / ufaegef (aﬁ'ma'QT:D

4. Negotiation / fdraraf (&Fﬂﬁf@ﬂ)

Correct Answer :-



« Negotiation / Tferaraf mﬁm



